do/dsum E, [mb,GeV ]
— o
= o N

=
<
[N

107

107

Ratio to UA1

0.5

500 GeV ppbar Soft QCD
B I I I | I I I | I I I | I I I | I_
= Sum ET (UAL, all p) =
- Flﬁiﬂﬂ .
= . “"Eag, 5
— 7l 9-“'&.*. ﬂﬂﬂ - -
- R .Q.Q.‘..’ il Ig= 7]
= ¢4 g 0. —
= Eé5‘-- AR . =
—m § Ho m= g T ¢ -
- EIE]. Egm _|
= ¢ =
= ! 3
= S -

N
- ‘ \\\5 —
- 'm UAL .
= --3-- Herwig 7.2.0 default =
~ ’0 ----- Sherpa 2.1.0 default -
e I —
- EEID ) L 3
- ' R ]
3 8 n
- [ o0 s
B 14 ]
[ :
B HEEEBE -
B - Yoy 2 ag
| \ , E"gm —" _
B A " |
A TN "
L 0’ |_\:|l s I_,T_‘l a
" \ / ‘\ ! \ i
1 1 1 |’ ’ |‘. 1 l 1 1 1 |I-‘_7-I ' L 1 1 ' | 1
20 40 60 80

Rivet 3.1.0, = 5.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


